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00O 1. There is no doubt thatl] Itis obvious/clear thatll Asis
known to allld O 13 2. O Itst] no wonderd He didnt work hard
and no wonder he lost his job. 3. It goes without saying that[] It goes
without saying that healthy men are happier than sick men. 4. What
IS more importantl] J 5. 1am convinced thatll OO 0O O O O 0O O
[ O 0O 1. Forexampled the peoples economic status has been
greatly improved. 2. For instancel] the economic status of the
people has been improved. 3. Lets have an example. TV setsL]
refrigerators and recorders have become household necessities. 4.
isacaseinpoint. OO0 O OOO0OOOOOO 1. According
to the figures given in the table. 2. This chart shows that[J 3. Asis
shown by the graphd [ 4. It can be seen from the statistics that[] 5.
It is generally believed that [1 accepted thought held rise 6. There is
slight increase in demand. slow income. decrease steady population.
decline rapid prices. reduction production.increase 7. be on the
decrease U O OO0OOO0OOOOOONOONO rise decline
[1 Example [J The number of students in the college has been on the
riseinrecentyears. J O OO0 OOO 1. Inmyopiniond Iamin
favor of owning a car. 2. Personally] | prefer to work in the country
rather than in the city. 3. In short] parents and children should
learn to get through to each other. 14 Only in this way can the most
difficult problems be solved properly. 4. In conclusiondJ we cannot



achieve success without effort and hard work. 5. As far as I am
concerned] [ agree with the opinion that“ No pains no gains.” 6.
From the above analysis[] we can see that[] / we come to the
conclusion thatld 7. Only in this way can weld 8. Only when wel]
Ocanwell DO OOODOO0OO0OOOOOO Asisknowntoallld it
Is important to be/ do] | think there are at least two reasons. For one
thingld OO For another] [ Lets takel] for example. From what |
have mentioned above we can see that without[] we cannot

[ Clearlyld [ plays an important part in(1 Different peoplel]
however[d have different opinions on this matter. Some people
think that1 According to them( all of us shouldJ Others argue
that[] In their opinionl] nobody canl] withoutl] There is no doubt
thatl] For exampled compared with(d [J [ has a lot of advantages.
As a consequenceld I As far as I am concernedd | firmly support
the view thatJ It is becausel] So my conclusion isthatl] [J 109
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